Exercises to study from Section 7.1:  #6abc, 7abc, 10bce, 11, 12, 13, 16, 17, 20, 21, 29, 34, 35, 37b
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	One-Sample Statistics

	
	N
	Mean
	Std. Deviation
	Std. Error Mean

	 Fuel Efficiency (mpg)
	20
	18.480
	3.1158
	.6967


	One-Sample Test

	
	Test Value = 0                                       

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	 Fuel Efficiency (mpg)
	26.525
	19
	.000
	18.4800
	17.022
	19.938
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	One-Sample Statistics

	
	N
	Mean
	Std. Deviation
	Std. Error Mean

	 Average Speed (mph)
	20
	30.80
	11.204
	2.505


	One-Sample Test

	
	Test Value = 0                                       

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	99% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	 Average Speed (mph)
	12.294
	19
	.000
	30.800
	23.63
	37.97
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	One-Sample Statistics

	
	N
	Mean
	Std. Deviation
	Std. Error Mean

	Weight Change (lb.)
	16
	4.7312
	1.74574
	.43644


	One-Sample Test

	
	Test Value = 0                                       

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	Weight Change (lb.)
	10.841
	15
	.000
	4.73125
	3.8010
	5.6615


	One-Sample Test

	
	Test Value = 16                                      

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	Weight Change (lb.)
	-25.820
	15
	.000
	-11.26875
	-12.1990
	-10.3385
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	One-Sample Statistics

	
	N
	Mean
	Std. Deviation
	Std. Error Mean

	 Change in Reasoning Score
	34
	3.62
	3.055
	.524


	One-Sample Test

	
	Test Value = 0                                       

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	 Change in Reasoning Score
	6.904
	33
	.000
	3.618
	2.55
	4.68
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	One-Sample Statistics

	
	N
	Mean
	Std. Deviation
	Std. Error Mean

	 Reading (pCi/l)
	12
	104.133
	9.3974
	2.7128


	One-Sample Test

	
	Test Value = 105                                     

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	 Reading (pCi/l)
	-.319
	11
	.755
	-.8667
	-6.838
	5.104


	One-Sample Test

	
	Test Value = 0                                       

	
	t
	df
	Sig. (2-tailed)
	Mean Difference
	95% Confidence Interval of the Difference

	
	
	
	
	
	Lower
	Upper

	 Reading (pCi/l)
	38.386
	11
	.000
	104.1333
	98.162
	110.104


